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6-5 Parallel Lines Proofs Part 2 Date
1. Complete the following proof: 14
Given: Lines k and p intersect at a given point. 3 2 l
Prove: mZ£2=mZ4 4
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2. Given: Line m is parallel to line n with transversal 7. ' 1

Prove: mZ2+mZ7=180° A Y
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3. Given: Line m is parallel to line n with transversal z.
Prove: mZ2+mZ£5=180°
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Given: Line m is parallel to line » with transversal ¢.
Prove: m£6=mZ8
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5. Given: Line m is parallel to line » with transversal ¢. ;
Prove: mZ3=mZ5
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Prove: m/8+mZ3=180° _
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6. Given: Line m is parallel to line » with transversal £,
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7. Given: Line m is parallel to line n with transversal 1.

Prove: m/3+mZ6=180°
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o
leen Line m is parallel to line n with fransversal ¢.
Prove: mZl=mZ7
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